This is a how-to for my Yo-Yo Ride. 

I hope you find it useful if you desire to build one of these props.

The list of supplies you will need.

10 ft. of SPT2 power cord and (2) prong plug (cord should be the same size as the cord used for household extension cords)
PVC Cement
(1) 8 FT' Length OF 3 inch PVC pipe(my ride is a little over 7 ft. tall)
(2) 3 inch Toilet flanges  

(2) 3 inch male threaded to female PVC bushings
(2) 3 inch female threaded to female PVC bushings 

(1)Ceiling hugger Fan (get the cheap kind without the air vents where the blades mount).

The fan I bought at Lowes came with the globe light fixture. 

This type of fan is also available at Home Depot and other stores.

Remember that the fan will be running upside down in this application. Fans with vents on the blade side tend get a lot of more moisture in them which would definitely be a problem.. I have never protected the motor. I built the ride in 2004(8 years ago) and the same fan motor has been on it all this time.  Although we do not get snow in Florida, we do get a lot of rain and an occasional freeze. Pouring rain etc. no problem. Dries out and runs fine.
I don't know how it would do in the snow country. No way for me to test that here--lol. I suppose if it got cold enough, the fan may not turn, but I don't know for sure.

Approximately 90 ft of Chain. (That is a guess). My baskets are about 2 1/2 feet off the ground. I just used cheap light weight chain that looks sort of like link chain.
(24) Small "S" hooks

(4)#10-24 x 1 inch long (4)#10-24 X 1 1/2 inch long machine bolts (8) lock nuts (4)flat washers.
(8) 1/4 x 2inch machine bolts, lock nuts, and flat washers.
(2) 1/4 X 1 inch machine bolts, lock nuts and flat washers.
(1)8 ft. 1x4 board for the base, pressure treated. (future plan is to replace that with a 48 in.      diameter plastic table top)
(4) Closet organizer shelf braces for 12 inch shelves. (shelving dept. at Home Depot or Lowes).

They come in sets of two. 

These are used in place of the fan blades (discard the blades, but keep the blade mounts). The fan blades will definitely not work for this project. They will have to be replaced with the braces for arms. The reason being? The blades are made from some type of composite material and will warp and come apart when they get wet--ie: rain, snow, etc.  
(4)Baskets. (I got these at Dollar Tree, but they also have some nice ones at Target for a good price).

(4) 5/8 x 4 mending plates. They have (4) holes for screws (Hardware dept. at Home Depot or Lowes).


Post assembly:

First you will need to cut off (2) 4 inch pieces  of the 3" PVC pipe to mount the bushings to the toilet flanges. (I used these bushings so that the ride can be taken apart for storage. Both the base and fan unscrew from the post). 
Glue (1) 3 inch male bushing to the top of the post and (1) 3 inch female bushing to the bottom of the post.
Glue (1) 3 inch Female bushing to (1) 4 inch piece of 3 inch PVC and then to one toilet flange and (1) 3 inch male bushing to the other 4 inch piece of PVC and then to the other toilet flange.

Note** Do not screw these to the post just yet.

Fan assembly: 

(You can do all of this before you mount the fan assembly on the post.)

Attach the power cord to the fan. The power cord will run down through the PVC post and out the bottom of the base.
Some of the ceiling hugger fans have an opening in the side of the mount where you can just slip the cord into the mount, and others have just a hole in the middle of the mount.
The cord needs to be put through the mount before you attach the fan mount to the toilet flange(the cord will need to be at least 10 ft' long, or longer if you want) 

Using the toilet flange with the female connector, attach the ceiling fan mounting bracket to the toilet flange using the (2) 1/4 x 1 inch machine bolts, lock nuts and flat washers.
The ceiling hugger mounting bracket will bolt right on to the toilet flange just as if you were mounting the fan on the ceiling.  You may have to drill a hole or two in the fan mounting bracket for it to mount.

Mount the fan to the fan mount bracket.

Now you can use the globe light fixture or something like what I used(a small blow mold) The Santa sleigh on mine is screwed to a light fixture mounting plate. I removed the fixture mounting plate and drilled a couple of holes in it and screwed the blow mold to it.
The mold has a C-7 light in it. If you use something other than the globe, you will need the plug ends from the fan light fixture to attach them to the C-7 cord, or whatever you use, for power. Run the wires through the mounting plate and plug them into the fan where the globe would have plugged in(I used these plugs so that the mold assembly, or globe, can be taken off for storage.)

Chain arms:

The closet organizer shelf braces will mount to blade mounts..
The braces will be on top of the blade mounts. Center them on top of the mount and drill (2) holes to bolt the braces to the mounts using the (8) #10-24 bolt, lock nuts and flat washers.

The base: Using the toilet flange with the male connector.

Cut (1) 8 ft. 1x4 board in half (2) 4 ft. lengths. Mark the center of the board and then measure the toilet flange mount from edge to edge. Center that measurement on the board. Drill a large hole in the center of the board for the power cord to pass through. It will need to be large enough for the plug to go through.(A little larger makes it easier to feed the power cord though) Take this board and span all the way across the Toilet flange at the base so that you have a base foot sticking out each side. The feet will be a little less than 2 ft. long. Center this board on the bottom of the base toilet flange, drill the 1/4" holes, and bolt it on using the 1/4 in. machine bolts, lock nuts and flat washers. Put the bolts from the bottom up through the board and toilet flange. Use flat washers and lock nuts on the flange side.
The other (2) feet are just cut to length and then bolted to the toilet flange. (here I put the metal plates from these (2) feet to the main foot for stability. One on each side of the cut to length foot to the main foot. Drill holes in the end of each foot for stakes. (I used 1/4" rod)

The Chain:

Cut the chain into even lengths depending on how long you want them to be. Mine are about 5 1/2 ft long. You should have (16) chains the same length.
Take (2) chains and put an "S" hook on (1) end for hanging on the arms. (two chains per "S" hook. Pinch the hook closed with pliers.
On the other end of the chains put (1) "S" hook per chain and pinch it closed. These will hold the baskets. (you should have (8) sets of chains with (2) chains in (1) "S" hook at the top and (1) "S" hook per chain at the bottom.
Drill a small hole in side of each basket, front and back, at the corner. This is for the "S" hooks to hang the basket. Cut out the front of the basket to make a "seat" for the riders. I used little stuffed Christmas dolls/animals for riders.
Take (1) set of (2) chains and attach it to the back of the basket ("S" hooks through the holes). Take another set of (2) chains and attached it to the front of the basket. You should have (1) basket with (4) chains attached (1) at each corner) and two "s" hooks at the top. Set them aside. Do not put them on the arms yet.

Assembly:

Now that you have your fan assembly ready and your base assembly ready, run the power cord through the post (top to bottom) and screw the fan assembly on to the top of the post. (saw horses are helpful here or at least something to lay the post down on).
Now run the power cord through the base and screw the base on to the bottom of the post.
Stand up the assembled ride post. Plug the cord in and set the fan speed to high(be sure to remove the chain from the fan speed switch. Since the fan is upside down it will get tangled in the blade mounts if you don't) With the weight of the chains, baskets, and riders the fan will spin at a nice low speed set on high). Unplug the cord and attach the baskets. They should all be facing the same way. It doesn't matter which way they face as the fan has forward and reverse mode. Just hook the "S" hooks over end the of the arms(one on each side of the arm). No holes needed. The hooks will stay just like they are.

Pug in the cord and enjoy your prop. If it is turning the wrong way, just unplug it, switch the mode switch and plug it in again.

Now you can unplug the cord, put your riders in the baskets, plug in the cord and enjoy your Yo-Yo Ride.

[image: image1.jpg]



[image: image2.jpg]



[image: image3.jpg]



[image: image4.jpg]



[image: image5.jpg]



[image: image6.jpg]


[image: image7.jpg]



[image: image8.jpg]



[image: image9.jpg]



[image: image10.jpg]



[image: image11.jpg]




